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Physics

Question: If initial velocity 30 m/s and acc is 2 m/s? after how much time vel will be 60 m/s
Options:

(a) 5 sec

(b) 10 sec

(c) 15 sec

(d) 20 sec

Answer: (¢)

Question: If ao is bohr radius, find de broglie wavelength of electron in 3rd orbit of hydrogen
atom

Options:

(a) 6mao

(b) 3mao

(c) 9mao

(d) mao

Answer: (a)

Solution:
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Question: If in 7 minutes body cools from 60°C to 40°C. Surrounding temperature is 10°C
then what will be the temperature of body in next 7 minutes?

Options:

(a) 16°

(b) 20°

(c) 28°

(d) 36°

Answer: (¢)

Solution:
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Question: In circular motion M = 5 kg, T = r seconds, R = 2 m. Find centrifugal force.
Answer: 40.00

Question: Minimum amplitude is 3 V, modulation index is 60% Find maximum amplitude
Options:

a5V

(b)10V

)12V

(d15Vv

Answer: (c¢)

Solution:

Question: Planet is moving in elliptical path which is incorrect?
Options:

(a) Areal velocity is constant

(b) Total energy is constant

(c) Velocity is constant

(d) none of these

Answer: (¢)

Solution:

Question: A body is dropped from a height of h; and after falling it rises to a height of ho,
such that the ratio of speed before and after collision is 4. Find percentage loss in KE.
Options:

(a) 6.25%

(b) 4.34%

(c) 10.00%

(d) 20.00%

Answer: 93.75%

Solution:
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or 93.75%

Question: A body weighs 100N on surface of earth find weight of body at height H = R/4
from surface of earth (R = radius of earth)

Options:

(a) SON

(b) 64 N
(c)25N

(d) 8ON
Answer: (b)
Solution:

Question: A solid sphere and a ring have equal masses and equal radii of gyration. If sphere
is rotating about its diameter and ring about an axis passing through centre and perpendicular

to its plane, then the ratio of radius is (gj then find the value of x.

Answer: 5.00
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Question: A proton is projected with speed v in magnetic field B of magnitude 1T. If angle
between velocity and magnetic field is 60° as shown below. Kinetic energy of proton is 2 eV
(mass of proton = 1.67 x 102" kg, e = 1.6 x 107!? C). The pitch of the path of proton is
approximately.

a

Options:

(a) 6.28 x 102 m
(b) 6.28 x 10* m
(c)3.14x 102 m
(d)3.14x10* m
Answer: (b)
Solution:

v
=

Pitch = V'T = vcos60° —— 25
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Question: Find the ratio of RMS speed of oxygen molecules to that of Hydrogen molecules
at same temperature

Options:
(a) 1/4
(b) 1/8
(c) 1/16
(d) 1/32
Answer: (a)
Solution:
I/rmsOZ V 32X10_ /
I/lmv 2 \/ 3RT 2 4
2x107°
Question: Find current is 20 € resistance
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Answer: 0.4
Solution:

Question: Assertion : Phase diff of two lightwave changes when 2 medium of same thickness
and different RI are used.

Reason : Wavelength of wave depends upon RI of medium.

Options:

(a) Assertion is true reason is true and reason is correct explanation of assertion

(b) Assertion is true reason is true but reason is not correct explanation of assertion

(c) Assertion is true reason is false

(d) Assertion is false reason is true

Answer: (a)

Solution:

Question: Find peak value of current

150 pF
| |
11
)
“\/
U 36 sin 120 mrt
Answer: 2.00
Solution:
c=150uF
V, =36
ow=120x
v
p=2r= Y ey
Yo 1/oC
iy =1207x150x107° x36 = 2.03
i, =24

Question: The temperature of an ideal gas is increased from 200K to 800K. If r.m.s. Speed of
gas at 200K 1s Vo, r.m.s. Speed at 800K is

Options:

(a) vo/2

(b) vo

(c) 4vo

(d) 2vo

Answer: (d)

Solution:

Question: S1: Diffusion current is more in magnitude than drift in forward bias
S2: Diffusion current is from n to p is forward bias




Options:

(a) S1 - True, S2 - False
(b) S1 - false, S2 - False
(c) S1 - True, S2 - True
(d) S1 - false, S2 - True
Answer: (a)

Solution:
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